Negative nhumbers

Simplify
-7 = (-3)
=-7/+3 (First we multiply the sigh— x — = +)
=4 (Calculation in the pair)
1. §5—(-7) 2. =8+ (-7) 3. [ +(-8)
4. 24 —(+14) 5. —36—(-9) 6. 15— (-3)
7. -6—(-9) 8. —9+(8) 9. 7+ (-9)
10. 7 —(-8) 11. 8+ (=7) 12. 7 + (-8)
13. —5—(-8) 14. —8— (-7) 15. 7 — (+7)
16. 15— (—10) 17 —8 + (-1 8) 18. 11 = (+9)




Simply the followings.

1. 5-3+8 =
2. =2—=3+0 =
6—(—4)+7 =
4. 8+ (-3)-9
6-(—-1)+4 =
6. 5—(—4)+ (—3) =
7. 8+(-3)-(-4) =
8. B—(=1)+5+(—4)=
9. 5—-(-2)+2-(-7) =
10, B¥{=T]¥Q¥(=L}=
11. (-8)+1—-(—4)+5=




